StarTechy:

Hard-to-find made easy®

Thin Client VESA Mounting Bracket

ACCSMNT

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest mform tion

this proc

Manual Revision: 12/18/2017



Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

Never operate this product f parts are missing or damaged.

‘When you assemble this product, do not over-tighten the screws.

Mensagens de aviso
c

" "

o
aresecure.

This product and should not

produto estao fixados de forma segura

duct.

em
T11b.(5kg) [
weight of the equipment and al of the hardware and components
Varningsmeddelanden Advertencias de uso
" .
Anvind aldri produkten om delar saknas ele i skadade.
Drainte 3t skruvama for hrt nar du monterar produkten
sikea c

estén asegurados,
Produkten

[

o produkten person eller
G !

puede caus f para el
sel P "
Rérdvara och ala komponenter.

segura el
Waarschuwingen Warnhinweise
Zorg dat u dit product volgens de instructes n lkaar zet,

Das . wenn

des a
zet e des
Ima dassalle
<
vastzitten
Freien
Dit prod 'verwendet werden.
letsel of Produks,
Tragkraft ausgelegt:5 kg
 ufder a
dware und wagen kann
Dichiarazioni di avvertenza =
d BT TRBEEIC > TAMROEITTETOTTEL,
FUSEEHITTHIR RTERHTEENLILTTEL,
prodotto, PIdEbIr BICTEOHE T RINICHS T H— 3 MO B D SRLTTEL,

< AELI ERCORAERELTVET. PATHEALEVTTEL,
sadamente fssat

AL TEOSN L BARSEREEZ AL LT TEN BARBERES —/ LA

ERET SR CRMRADENL 55 T, FasEid HTOBHE (X0 CEET: 5k

BATEZEBSET 3 RS BHBIHSTL

BHRELC Pl
Avertissements
Assemblez ce produit conformément aux nstructions.

manquantes.
pa
fixés.
<
el Ce 5

Instruction manual

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings

Product dimensions

Product diagram

Package contents

Introduction

Mount to a pole

Requirements

aua o A W N

Assemble the ACCSMNT

Mount under a desk or table

Requirements

10

10

Assemble the ACCSMNT

Mount to a VESA monitor mount

16

Requirements

16

16

Assemble the ACCSMNT

Technical support

21

Warranty information

21

Instruction manual

StarTechy.0m

Hard-to-find made easy



Product dimensions

4.6in.(118 mm)

A

'
3.9in. (100 mm) .

' 2.9in. (75 mm) |
|

A
_____________ i
- I
£ € § €
sl & 2 3
<o £ c =
< o o £
~ N ) =
______________ \
\/

| -
\

~—

! “min 0.7 in. (17 mm) to max 2.7 in. (70 mm)

StarTechy.0m

Instruction manual
1 Hard-to-find made easy



Product diagram

Pole mount setup pictured

Mounting bracket

Pole mount ——*

M5x25 mm screws

Knob

StarTechg-0m

2 Hard-to-find made easy

Instruction manual



Package contents

Adjustable strap

Qty: One
@
Pole mount Pads
Qty: One Qty: Six

M5x25 mm screws
Qty: Two

Instruction manual

M4x12 mm screws
Qty: Eight

StarTechy.0m

3 Hard-to-find made easy



@ V

M4 nuts Screws
Qty: Four Qty: Four
° Sy
P
Washers Instruction manual
Qty: Four Qty: One
Introduction

The ACCSMNT is compatible with 75x75 and 100x100 VESA monitor mount
configurations.

You can mount the ACCSMNT to a pole, to a VESA monitor mount, or under a desk
or table. Select the mounting option that works best for your setup and follow the
corresponding instructions to assemble and mount the ACCSMNT.

The ACCSMNT can be mounted to a pole that is approximately 30 mm in diameter.

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



Mount to a pole

Requirements
- Phillips type screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ACCSMNT.

Assemble the ACCSMNT

Caution! Do not exceed the weight capacity of this product. Overloading this product
might result in injury or property damage. This product can support the following
weight: 11 Ib. (5 kg).

Caution! Make sure that the surface that you are attaching this product to can
safely support the combined weight of the equipment and all of the hardware and
components.

1. Turn the knobs on the mounting bracket clockwise and remove them from the
mounting bracket. (figure 1)

figure 1
o)
@@ 0 o ° e———Mounting bracket
6]
0 O
0 | o o]
0 6]
o 6]
o) 0 0

oe——Knob

r 4
<«
r 4
<

StarTechy.0m

5 Hard-to-find made easy

Instruction manual



2. Pull the two halves of the mounting bracket apart. (figure 2)

figure 2

3. Place the pole mount around the back of a pole.

4. Place the half of the mounting bracket with the extended platform at the front of
the pole, and align the holes on the pole mount with the two holes on the raised
part of the mounting bracket.

5. Use a screwdriver to insert the two M5x25 mm screws through the mounting
bracket and into the pole mount, and then tighten the screws. (figure 3)

figure 3
e /e
Pole mount—'@:,B

Pole ———

StarTechy:0m

6 Hard-to-find made easy

Instruction manual



6. Remove the adhesive backing from one of the pads and stick it to the raised
platform on the half of the mounting bracket with the extended platform. If
necessary, attach additional pads in the same location to accommodate the size
or shape of the equipment that you're mounting. (figure 4)

figure 4

Mounting bracket ——|

7. Stick two of the pads to the other half of the mounting bracket. If necessary,
attach additional pads to accommodate the size or shape of the equipment that
you're mounting. (figure 5)

figure 5

Mounting bracket ———e &

Assembly hole

StarTechy:0m

7 Hard-to-find made easy

Instruction manual



8. Insert the mounting bracket into the slots on the other half of the mounting
bracket. (figure 6)

figure 6

e——— Mounting bracket

9. Thread the knobs onto the bolts on the bottom of the mounting bracket. Do not
tighten the knobs at this point in the assembly. (figure 7)

figure 7

/ ?| e——— Mounting bracket

StarTechg-0m

8 Hard-to-find made easy

Instruction manual



10. Carefully slide your equipment onto the mounting bracket. (figure 8)
figure 8

o——— Equipment

o——— Mounting bracket

11. Slide the mounting bracket until it’s positioned tight against the equipment.
12. Tighten the knobs on the bottom of the mounting bracket.

13. Place the adjustable strap around the mounting bracket, and adjust the strap so
that it fits tightly around the equipment. (figure 9)

figure 9

StarTechy.0m

9 Hard-to-find made easy

Instruction manual



Mount under a desk or table

Requirements
- Phillips type screwdriver

Note: The provided mounting hardware may not be appropriate for the mounting
surface that you're using. If that is the case, you will need to use different mounting
hardware than what was provided.

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ACCSMNT.

Assemble the ACCSMNT

Caution! Do not exceed the weight capacity of this product. Overloading this product
might result in injury or property damage. This product can support the following
weight: 11 Ib. (5 kg).

Caution! Make sure that the surface that you are attaching this product to can
safely support the combined weight of the equipment and all of the hardware and
components.

1. Turn the knobs on the mounting bracket clockwise and remove them from the
mounting bracket. (figure 10)

figure 10
@@ 0 e————Mounting bracket
0
0 [}
0 L °
(9) 0 o
o——— Knob
P ~~
N ¢ A4

StarTechy.0m

10 Hard-to-find made easy

Instruction manual



2. Pull the two halves of the mounting bracket apart. (figure 17)

figure 11

3. Remove the adhesive backing from one of the pads and stick the pad to the
raised platform on the half of the mounting bracket with the extended platform.
If necessary, attach additional pads in the same location to accommodate the size
or shape of the equipment that you're mounting. (figure 12)

figure 12

StarTechy.0m

11 Hard-to-find made easy

Instruction manual



4. Stick two of the pads to the other half of the mounting bracket. If necessary,
attach additional pads to accommodate the size or shape of the equipment that
you're mounting. (figure 13)

figure 13

Assembly hole

5. Use the four mounting holes in the half of the mounting bracket with the
extended platform as a template and mark the place under the desk or table
where you intend to mount the ACCSMNT. (figure 14)

figure 14

Desk or table

Mounting bracket

StarTechy.0m

12 Hard-to-find made easy

Instruction manual



6. Position the adjustable strap behind the half of the mounting bracket with the
extended platform and line up the holes on the mounting bracket with the marks
that you made in the previous step.

7. Use a screwdriver to insert the screws through the mounting bracket and into the
desk or table, and then tighten the screws. (figure 15)

figure 15

-

8. Insert the mounting bracket into the slots on the other half of the mounting
bracket. (figure 16)

figure 16

Mounting bracket

StarTechy.0m

13 Hard-to-find made easy

Instruction manual



9. Thread the knobs onto the bolts on the bottom of the mounting bracket. Do not
tighten the knobs at this point in the assembly. (figure 17)

figure 17

Knab Mounting bracket

10. Carefully slide your equipment onto the mounting bracket. (figure 18)

figure 18

Adjustable strap Equipment

StarTechy.0m

14 Hard-to-find made easy

Instruction manual



11. Slide the mounting bracket until it's positioned tight against the equipment.
12. Tighten the knobs on the mounting bracket.

13. Adjust the adjustable strap so that it fits tightly around the mounted equipment.
(figure 19)

figure 19

Adjustable strap

StarTechg-0m

15 Hard-to-find made easy

Instruction manual



Mount to a VESA monitor mount

Requirements
- Phillips type screwdriver
« Wrench

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ACCSMNT.

The ACCSMNT is compatible with 75x75 and 100x100 VESA monitor mount
configurations.

Assemble the ACCSMNT

Caution! Do not exceed the weight capacity of this product. Overloading this product
might result in injury or property damage. This product can support the following
weight: 11 Ib. (5 kg).

Caution! Make sure that the mounting surface that you are attaching this product to
can safely support the combined weight of the equipment and all of the hardware and
components.

1. Turn the knobs on the mounting bracket clockwise and remove them from the
mounting bracket. (figure 20)

figure 20
0 0 o o e————Mounting bracket
0 0 W o
0 o]
o} | 0 0
o o
0 (0]
0 0 Y
o——— Knob
_— -~
\ ¢ N ¢

StarTechy.0m

16 Hard-to-find made easy

Instruction manual



2. Pull the two halves of the mounting bracket apart. (figure 21)

figure 21

3. Remove the adhesive backing from one of the pads and stick the pad to the
raised platform on the half of the mounting bracket with the extended platform.
If necessary, attach additional pads in the same location to accommodate the size
or shape of the equipment that you're mounting. (figure 22)

figure 22

StarTechy.0m

17 Hard-to-find made easy

Instruction manual



4. Stick two of the pads to the other half of the mounting bracket. If necessary,
attach additional pads to accommodate the size or shape of the equipment that
you're mounting. (figure 23)

figure 23
94 Pad

Mounting bracket @

Assembly hole

5. Place the half of the mounting bracket with the shorter platform over the VESA
monitor mount so that the holes on the bracket line up with the holes on the
mount.

6. Insert the four M4x12 mm screws through the mounting bracket and the VESA
monitor mount.

7. Slide the washers over the ends of the M4x12 mm screws.

8. Use a wrench and attach the M4 nuts onto the ends of the screws and tighten the
nuts in place.

9. If necessary, use a screwdriver and/or wrench to tighten the screws. (figure 24)

figure 24 Washer
M4x12 mm screw /
@

M4 nut l
=R

StarTechy.0m

18 Hard-to-find made easy

Instruction manual



10. Place the adjustable strap in the recessed area on the half of the mounting
bracket with the extended platform, and line up the mounting holes on the
mounting bracket with the mounting holes on the back of your monitor.

11. Insert the M4x12 mm screws through the mounting bracket and into the monitor.

12. Insert the bolts on the mounting bracket into the slots on the mounting bracket
and monitor assembly.

13. Thread the knobs onto the bolts on the bottom of the mounting bracket. Do not
tighten the knobs at this point in the assembly. (figure 25)

figure 25

*— Mounting bracket

Note: The monitor bracket is pictured without the monitor attached for illustration purposes only.

14. Carefully slide your equipment onto the mounting bracket. (figure 26)

figure 26

r e——Equipment

o—— Mounting bracket

StarTechy.0m

19 Hard-to-find made easy

Instruction manual



15. Adjust the knobs on the mounting bracket.

16. Place the adjustable strap around the equipment and the mounting bracket, and
adjust the strap so that it fits tightly around the mounted equipment. (figure 27)

figure 27

StarTechg-0m

20 Hard-to-find made easy

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

21 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



